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LOGARITMOS 

Problema 100: 

Calcular: 

𝑙𝑜𝑔√3𝑥 + 1 − 𝑙𝑜𝑔√2𝑥 − 3 =   1 − log 5 

Solución Problema 100:  

Aplicando las propiedades de los logaritmos: 

𝑙𝑜𝑔√3𝑥 + 1 − 𝑙𝑜𝑔√2𝑥 − 3 =   1 − log 5 

log
√3𝑥 + 1

√2𝑥 − 3
= 𝑙𝑜𝑔10 − 𝑙𝑜𝑔5 

log
√3𝑥 + 1

√2𝑥 − 3
= 𝑙𝑜𝑔10 − log

10

2
 

log
√3𝑥 + 1

√2𝑥 − 3
= 𝑙𝑜𝑔10 − (log 10 − 𝑙𝑜𝑔2) 

log
√3𝑥 + 1

√2𝑥 − 3
= 𝑙𝑜𝑔10 − log 10 + 𝑙𝑜𝑔2 

log
√3𝑥 + 1

√2𝑥 − 3
= 𝑙𝑜𝑔2 

Al haber logaritmos en los dos miembros de la igualdad podemos 
suprimirlos: 

√3𝑥 + 1

√2𝑥 − 3
= 2 

3𝑥 + 1

2𝑥 − 3
= 2 

(
3𝑥 + 1

2𝑥 − 3
) =  2  
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3𝑥 + 1

2𝑥 − 3
=  4 

3𝑥 + 1 =  4 · (2𝑥 − 3) 

3𝑥 + 1 =  8𝑥 − 12 

3𝑥 − 8𝑥 =  −12 − 1 

−5𝑥 =  −13 

𝑥 =  
−13

−5
=

13

5
  

 

 

 

 

 

 

 

 

 


